Exam 2 Tl\ursc(ax S .00

in PS 330(

Being noks on ene side 6% an Flax Il sheet of paper

Optisnal review sesson lU:'JmsJay(c) T0pm in STEM

=loV g£,= 2oV a5
Ll K n L =0 €= 500
l'; ’ : 4—-|a
lesp cule 'BP a. pV=C --l R=6 > | = fa = 2A
loop vule for b: MN=O D g l;aa'rs =0 DY —2163_06/)
. . =S
Reg I para lle( siuations
R-m. V =\, \/; aub A TRAF
Ra‘l; \/ V3V L =Ll
| T > ? g R R
© + —} Qe$ Rl a Pi ' A
Vv - |
If the four light bulbs are circui] cireuit T
identical, which circuit puts (@)
out more light? @ @
b) Il ]
c) They emit the same amount lilv 11}V
Concept @ ¥4 ch 1o
The circuit shows two identical bulbs —o\j
glowing with equal brightness. When .
the switch is closed, the brightness s
of bulb A @ @—-1 Cona;P-’a *_S

b) decreases.
c) remains the same.
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d) not enough information
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